Run 3 Minbias

Use low pile-up run, trigger on MBTS, measure track distributions

P P

Example of minimum bias
process: Single diffraction

https://indico.cern.ch/event/1467719



https://indico.cern.ch/event/1467719

Number of charged particles

MC / Data

Run 2
_IIIIIIIIIIlIIIIIIIIIIIIIllIIIIlIIIIIII—
- Ny, =1, p>500MeV, Inl<2.5 _
0.1—t > 300 ps —
~ ATLAS Internal Vs =13 TeV )}
0.08 —
== Data |
[T — PYTHIA 8 A2 _
0.06—; — - PYTHIA 8 Monash —
- -=+ EPOS LHC -
i -= QGSJET 11-04 i
0.04— —
0.02-  %se,
i B
1.5 -
1:‘—'===='L" :
o
0.5F

nch

MC / Data

—
&)

—r

O
&)

Run 3

llllIlllllllllllllllllllIlllllllll

- ng, = 1, P, > 500 MeV, Inl <2.5

— 1t > 300 ps

- ATLAS Internal Vs = 13.6 TeV

-

.

i =e= Data

I — PYTHIA 8 A3

--- EPOS

HERWIG 7

'
~I
~I
~I
‘l
~I
-~
-
.l
-~
s

I | L | [

'
------
-

n

':.-., e e i
- _— T i ————— =
2 4 6 8 10 12 14 16 18 20

ch



Number of charged particles

From https://cds.cern.ch/record/2206965 Pythia 8 A3 undershooting data at low nch

Charged multiplicity > 1, p; > 500 MeV, |n| < 2.5, 7 > 300 ps
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